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DO NOT OPEN THIS BOOKLET
UNTIL INSTRUCTED TO DO SO.

EXAM 3
ELEE 2335

December 5, 1987
INSTRUCTIONS:

1. Sign your name on the upper left of this page.

2. All work is to be done in the spaces provided in this booklet. Use the
backs if necessary. Indicate clearly where your work and answers may be
found. Enclose your final answers in a box. No credit will be given unless
the necessary work is shovwn. You are allowed a crib sheet which consists
of three sides of §-1/2" x 117 paper.

3. Make sure that some kind of clear distinction is obvious
between complex quantities {phasors and impedances) and time
domain functions. Underlined symbols, lines over symbols, or any other
clear method will be acceptable. Show all of your units explicitly, both in
your final answer and in your intermediate steps. Units in exam questions
are placed within square brackets.

4. If your answers and york are not in ink, there will be no provision for
changing your grade once the exam is returned to you. Do not use red ink.
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1. (40 Points) Find the steady state value of v(t) in the circuit below.
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Room for Extra Work
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2 {30 Points) In the circuit below, the switch S1 hed been closed for a
long time, and S2 had been open for a long time. At t = 0, S1 opened and S2

closed. Find i(t) fort»> 0.
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3. (30 Points) The switch in the circuit below had been closed for a long
time, and is opened at t = 0. Find i(t) fort > 0.
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